[image: image1.png]a wire-wound resistor







	
You may choose to use some of these :
	

	
	· 
	ammeter
	

	
	· 
	voltmeter
	

	
	· 
	low-voltage supply
	

	
	· 
	variable resistor
	

	
	· 
	switch
	

	
	· 
	connecting leads
	

	
	· 
	about 60 cm of constantan wire,
	

	
	
	diameter 0.31 mm (30-gauge)
	

	
	· 
	metre rule
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Making a 10.0	 ( resistor





Extension�Sheet





‘Wire-wound’ resistors are often built from a length�of thin wire made of a metal called constantan.





You are given a short length of constantan wire,�of diameter 0.31 mm.





Your task is to decide what length of this wire�would be needed to make a resistor of value 10.0 (. 





Think about :


What circuit will you use to measure the�resistance?


What formula will you use to calculate the�resistance?








How many readings will you take?


What range of readings will you take?


Will you need to repeat your readings to make�them more reliable?


You can put your results in a table like this :





Ask your teacher to check your plan before�you begin the investigation.











Plot a graph of your results and draw the line�of best fit.





From your graph, work out what length of wire�would be needed for a resistance of 10.0 (.
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